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D 85,000
< 18,850
Al 1,694,346
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M DNERE2H 348,750 362,190 A 13,440
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201 LEtRHH| 234,000 247,820 A 13,820
01 AF22t2|H] 234,000 247,820 A 13,820
O1 LBt EH| 600
> X 150, 0003 =4 0H 600
O3 g4 233,400
DAAMEHE MAIRIRE &G
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D> Z=2tEE QARG
50,0002 x60 10t 2 +383| x27| 228,000
D> OPLOI0l ZAFSS (OH2 Al 238])
2,400,000 23] 4,800
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1,200,000 »23] 2,400
206 M= Hl 5,280 5,500 A220
01 X 24l 5,280 5,500 A220
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01 ML =EFSHI 3,800 2,000 1,800
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201 LBt2HH| 54,000 58,500 4,500
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OOof2tet =2 RI=EL U 2F
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sURgstna 10,400 10,400 0
201 B2 | 10,000 10,000 0
01 At 2teltl 10,000 10,000 0
O3 2= 10,000
DEUS detna ZAtg
50,0003 * 10t S +203] 10,000
202 44| 400 400 0
01 =LHOI B 400 400 0
OBLIQ $eiDa 424 QHEE Y 2
200,000& »23| 400
MU2I ALS 1WAl 10,950 14,550 A 3,600
201 L Et2FH| 10,750 14,350 A3,600
01 At 2teltl 10,750 14,350 A 3,600
O1 LBt=ZH| 250
D9 HE 50, 000& =50H 250
O3 292 10,500
DML AtSIQl Al 2EAL=E
70,000& 101t =+*152] 10,500
202 44| 200 200 0
01 SLHA bl 200 200 0
OMUWII Atglelna =8 & 29
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A CH & 26,900 20,400 6,500
201 Ler2g | 21,900 16,000 5,900
01 At 2teltl 21,900 16,000 5,900
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400,000 12 400
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997,00024 122 11,964
DSEX L E0IEH2 P (XITHAID}
30,000 128 360
DEMTU(HE ®I|, AL SAl)
67,000 128 804
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8,252,710 %13 8,253
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>l - =AY 50,000& 221478 47,800
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DEI RB(AL2eHH)
21,689,850& 12& 260,279
> &I RSB(XIoHADH 5,493,600 *12& 65,924
DAGHEE QB(AHL25H4EH)
1,673,700& x12& 20,085
>ASHEE R2(XIoHADE) 213, 150& x12& 2,558
DEA EHINE B2 1,500, 000& 23| 3,000
DEAN NSRY 2E3
350& x17,398m *0.82x0.5 2,497
DOIAAD BHAIEH EE g 150,000 * 14 150
>EtAl OIg4l AtE S 19,0003 = 12& 228
>etstate| AF o 3| 50,000& %10l 50
DO D=0 HAF H| 100,000 =121 100
D&M 22| X A S Y| 100,000& =12l 100
O2 A=t 212,396
DZADIA @3 (He=z 228)
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D EZADIA 23 (H2E2 W24 400RT)
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DEZADIA I (HEE W24 400RT)
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Dl HIAZ AAEHIT FR
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OJIAH € /A&l XHM 5,000,000 * 14| 5,000
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O3xJ |22l MM (Zet=0 )
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307 212+01 A 265,265 263,216 2,049
05 QI E = 265,265 263,216 2,049
OEMN HAEY 20,438, 730& «12& 245,265
O2A= Sdtl(gRel Ea)
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= 96,000
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101 Q1248 42,480 42,480 0
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04 12K 2 42,480 42,480 0
oxYy 1,770, 00021 #2901 122 42,480
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201 Yere gt 17,600 26,520 £8,920
| 17,600
01 AtR2t2IH] 17,600 26,520 £8,920
O1 Yer+gt| 17,600
PEGNGTRIY 29
80,0002 1021 %225 17,600
| 17,600
301 YerE Az 12,920 4,000 8,920
| 12,920
10 S APALY| 2 4 2 12,920 0 12,920
OFSAST28 I G|
25,0002 %1021 %225 5,500
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OFctyg o2y £2T AS 22|
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OFYN 25 2 DSFA ot
1,710,000%! %201 3,420
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Al 2,400
307 gI2toI A 15,000 0 15,000
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HE A LU (AIRIZ2SHAE) 67,857 58,665 9,192
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012 26,658 24,609 2,049
OAIZt2l 222Y 8,078& x1121x300Al 2+ 26,658
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OAlZte 2824 8,049% 421300 A| 2+ 9,659
=&l 31,540 28,348 3,192
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201 L EH2FH| 22,800 20,808 1,992
01 AR 2teld| 18,240 17,988 252
O1 LBt==ZH| 10,860
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